=

® a= @ a+#2 ® a=21
@ a#21 ® a=13
QAYHA 2o+ 11 = 2 & 2] 9I9f 5419 42

r7FAZ {1, 0, 1, 2} o] LAY o, FFA 122 =
3z —4 9] =2

@ -1 @0 @1

@ 2 ® gitt.

o2 5 o 7t olE S Zi et 4t Fol Hi= 54
29

®22-3=a+2

@ 3z=0
@ar—-1=1—x

@ 62+3=3(1+20)

® 3(x+2)=42+8

2 7H AT 0, 1, 2} O V4w, AAHA 3041 =

iz +5 2] 52 Fatolat,

e S40] G50 HES 44 a, b 9 e

4—x+b5r=ar+b

D a=2, b=3
®a=4, b=3

®a=4, b=4

o % o o @l nfet o] 5171w sk Ale] 5]
R

O3x—z+1=14+22

@ 44+11=14
® x+7<10
® 9z —8=-8

® 2r+1—z=1+zx

994 L ri=a- S aga, 120 =T 0y
e be & o, 0 x bl G Fatele




9. o=S4 Tz gl BARlel

P Yot

O
O

DO1-20=x+2

@ r—-6=10
®21-2)=1-2z

@ 3r—-2=3x—-1)+1

® z4+4r=6z—-5

@ 52—-9 @ 242x=1-— 22

® 2r—x=x+4 @ 3(z+2)=6+3x

® z(x+1)=22-2

11. o5 27] F o o ¥t dapgg o] ofd AS B
Zehe,
H7]

QD 4(l—2z)—4x=0
© 20+7=7T42z

© 1+r—22=1—22
® 2 =2z + 3a?

@ 3z+8=2r+1

i
kil
£

©4+3x=2x+5
@2xr+1=6
@ —2x+7=6

. THE SAl0] 5 o] B G5 Al0] HEE S
=
=2

o]t a +b O] F2?

3axr =6x+3b+5

2 1
© -2 @ - ® 0
1 2
@3 ®3
14. 043 5 2 A4S 25 1=2H?7(AE 270)
®z+3=y+1°Hz=y—3 0|t

= £ ol% 42 = 5y oI},

@a_b:%ﬂﬁgzbﬂw

X
@5

@ 2a=4b°lH a+2=2(b+2) °Jt}.

® a+b=x+y°lHa—xz=y—boJtt




@ -4 ®-3 @®-2 -1

—~

= ™,

dr+3) = 2(4x+5) Eax =b 9
o] gk Fstola,




